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An arboreal (tree dwelling)fruit-pigeon found in New Zealand. It resembles a typical pigeon, in that it has a relatively small head, a straight soft-based bill and loosely attached feathers. It also displays typical pigeon behaviour, which includes drinking by suction, a wing-threat display, hitting with the wing when threatened, a diving display flight, a 'bowing' display, ritualised preening and 'billing' during courtship. 
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A large, flightless, nocturnal, ground dwelling parrot. It has finely blotched yellow-green plumage, a large grey beak, short legs, large feet, and wings and a tail of relatively short length. It is the world's only flightless parrot, nocturnal, herbivorous, & visibly sexually dimorphic (males look different than females) in body size. It uses its wings for balance, support, and to break its fall when leaping from trees. Unlike other land birds, the Kakapo can accumulate large amounts of body fat to store energy, making it the heaviest parrot.
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Kiwis are shy and usually nocturnal flightless birds of New Zealand around the size of a domestic chicken. Their bill is long, pliable and sensitive to touch.
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A Takahē is a sedentary and flightless stocky bird with reduced wings, strong legs and a massive bill.

The adult Takahē is mainly purple-blue in colour, with a greenish back and inner wings. It has a red frontal shield and red-based pink bill. The legs are pink.
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The tui has brown feathers on the back and flanks, a multi-coloured iridescent sheen that varies with the angle from which the light strikes them, and a dusting of small, white-shafted feathers on the back and sides of the neck that produce a lacy collar. Their short wide wing give them excellent maneuverability in the dense forest.

Adaptation groupings

	Birds have different shaped beaks and feet suited to the habitat they live in.


	If there is thick snow cover on the ground during winter, takahē will nest in forested areas to provide shelter.

	Kiwi and takahē have vestigial wing buds, which are incapable of flight.


	Kererū fledglings spend 1–2 weeks with their parents before becoming independent.

	Kiwi hatch with an internal yolk sac. This sustains the chick in its first week of life.
	Kiwi are nocturnal birds.



	Kiwi have fine whiskers at the base of their beak to aid their navigation in the dark.
	Male kākāpō let out a ‘booming’ noise from dug-out bowls in the earth to attract a female.

	Kiwi have nostrils at the ends of their beaks


	Many birds such as the kererū and tūī perform display dives to attract a mate.

	Kiwi plumage blends in with the undergrowth to allow them protection from predators through camouflage.


	The breeding cycle of kākāpō is tightly linked with the fruiting of the rimu tree. In abundant fruiting years, more chicks are often born.

	The bill of the takahē extends onto its forehead as a shield.
	The kākāpō has a ‘freezing’ response to danger.

	The kererū has the widest gape of any New Zealand forest bird. This enables it to swallow the large berries of native trees.
	Tūī have hollow bones and no teeth, which makes their body light for flight.

	The tūī has a long curved beak and a fine brush-tipped tongue that enables it to extract nectar from forest tree flowers.


	Kererū are one of the few birds to produce ‘crop milk’ – a protein-rich milky secretion from the walls of their crops to sustain their chicks.


	Structural adaptations are physical features of an organism like the bill of a bird or the fur of a bear.
	Behavioural adaptations are the things organisms do to survive. (migration, hibernation, etc.)
	Physiological permit the organism to perform special functions (making venom, secreting slime, phototropism)

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


1. Analyze the attributes of the kiwi that make them vulnerable to predators. 

2. Explain how a behavioural adaptation can benefit the mating habits of the kakapo.

3. Compare and contrast 2 bird species (kiwi and kererū or takahē and tūī). Use a Venn diagram to show the similar and different traits that these two species have.
4. How does being nocturnal benefit the kiwi?

5. The baby kiwi hatches with an internal yolk sac, which sustains the chick in its first week of life. The kererū are one of the few birds to produce ‘crop milk’ – a protein-rich milky secretion from the walls of their crops to sustain their chicks. Defend the reasoning behind one of these adaptations being structural, while the other is physiological.

